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»4/115 The design of a hoisting mechanism for the dump
truck is shown in the enlarged view. Determine the
compression P in the hydraulic cylinder BE and the
magnitude of the force supported by the pin at A
for the particular position shown, where BA is per-
pendicular to OAE -and link DC is perpendicular to
AC. The dump and its load together weigh 20,000
Ib with center of mass at G. All dimensions for the
indicated geometry are given on the figure.

Ans. P = 26,900 1b, A = 14,600 Ib

- Detail of hoisting mechanism
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5/43 Determine the coordinates of the centroid of the trap-
ezoidal area shown.

Ans. X = 233mm, ¥ = 333 mm
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| 5/81 By the method of this article, determine the x- and
y-coordinates of the centroid of the shaded area of
Prob. 5/19, repeated here. |
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5/67 Determine the dimension 2 of the rectangular open- O
ing in the square plate which will result in the mass
center of the remaining plate being as close to the

upper edge as possible. Ans. h = 0.586a
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